H1.6.09
BALKON
F=8,80m?
F=(1/2)=4,40m?
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WOHNUNG 6:

58.30gm incl. BALKON (1/2)

WOHNUNG 4:

106.69gm incl. LOGGIA/BALKON (1/2)

H1.4.03

ZIMMER
F= 11,11m?

H1.4.04

SCHLAFEN

F= 17,28m?
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H1.6.04
KUCHE
\ F=9,50m?
- SCHLAFEN
I F= 13,88m? F= 10,40m?
TRH
F= 26,02m?2
+3.000kK.FFB.
H1.6.05 AV
WOHNEN /ESSEN H1.6.01
F= 26,78m? FLUR
F=9,55m?
H1.6.06
HWR /ABST.
F= 4,45m?
o H1.5.03 H1.5.02
KUCHE HWR /ABST.
F=7,81m? F= 6,04m?
|
H1.5.04 H1.5.01
WOHNEN /ESSEN FLUR
F= 35,56m? F= 14,56m?
H1.5.05 H1.5.06 H1.5.07
ZIMMER BAD SCHLAFEN
F= 11,55m? F= 8,51m? F= 15,85m?
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LOGGIA /BALKON
F=11,95m?2

WOHNUNG 5:

F=(1/2) = 5,98m?2

108.63qm incl. LOGGIA/BALKON (1/2)

H1.4.01 H1.4.05
FLUR BAD
F= 12,86m?2 F=9,18m?

H1.4.07 H1.4.06 =
HWR/ABST. KUCHE /
F= 5,90m? F=8,73m? /

H1.4.08
WOHNEN /ESSEN
F= 31,90m?
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LOGGIA /BALKON
F= 15,18m?
F=(1/2)=7,59m?

HAUS 1
1.0BERGESCHOSS



